












































































































A coat costing 448 has its price increased

by 15 What is the new cost

48 x 1.15 55.20

A coat in a sale is offered for 48

after having 20 taken off How much

was it originally

original 0.8 48

original It 60
O 8

VAT is a tax on sales of 20

A car costs 23000 including VAT

what is the price excluding VAT

2 ooo 120 of orgul
23000 1.2 19166.67

Percentages and Reverse Percentages





































































































































































































